
 

Description of rates 
 
 

Live birth rate by age group and 

employment status of father (per 

1,000 population) 

= 
Legitimate live births by age group and employment status of father 

 1,000 
Male population of the relevant age group and employment status 

 

Live birth rate by age group and 

employment status of mother (per 

1,000 population) 

= 
Live births by age group and employment status of mother 

 1,000 
Female population of the relevant age group and employment status 

 

Death rate by age group and 

employment status of male (per 

1,000 population) 

= 
Deaths by age group and employment status of male 

 1,000 
Male population of the relevant age group and employment status 

 

Death rate by age group and 

employment status of female (per 

1,000 population) 

= 
Deaths by age group and employment status of female 

 1,000 
Female population of the relevant age group and employment status 

 

Foetal death rate by employment 

status (per 1,000 total births) 
= 

Foetal deaths by employment status of mother 
 1,000 

Total births (i.e. live births + foetal deaths) in the relevant employment status 

 

Perinatal death rate by 

employment status (per 1,000 

total births) 

= 

Perinatal deaths by employment status of mother 

 1,000 Total births (i.e. live births + foetal deaths at 22 completed weeks and over 

of gestation) in the relevant employment status of mother 

Perinatal deaths = foetal deaths at 22 completed weeks and over of gestation + early neonatal deaths 

 

Foetal death rate at 22 completed 

weeks and over of gestation by 

employment status (per 1,000 

total births) 

= 

Foetal deaths at 22 completed weeks and over of gestation by employment 

status of mother 
 1,000 

Total births (i.e. live births + foetal deaths at 22 completed weeks and over 

of gestation) in the relevant employment status of mother 

 

Early neonatal death rate by 

employment status (per 1,000 

total live births) 

= 
Early neonatal deaths by employment status of mother 

 1,000 
Total live births in the relevant employment status of mother 

 

Marriage rate by age group and 

employment status of groom (per 

1,000 population) 

= 
Marriages by age group and employment status of groom 

 1,000 
Male population of the relevant age group and employment status 

 

Marriage rate by age group and 

employment status of bride (per 

1,000 population) 

= 
Marriages by age group and employment status of bride 

 1,000 
Female population of the relevant age group and employment status 

 

Divorce rate by age group and 

employment status of husband 

(per 1,000 population) 

= 
Divorces by age group and employment status of husband 

 1,000 
Male population of the relevant age group and employment status 

 

Divorce rate by age group and 

employment status of wife (per 

1,000 population) 

= 
Divorces by age group and employment status of wife 

 1,000 
Female population of the relevant age group and employment status 

 

 

Notes: 1) “Population” refers to the Japanese population as of October 1, 2010 

2) The proportions of age group totals include “Age Not Stated” into the population aged 15 years and over. 


